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1. Which one of the following is correctly

matched ? 4

(a) Oxygenic - Higlier plants and
phototrophic - Micro-organism
organism

(b) Photosynthetic - Carry out
organism respiration only in

: light '

(c) Nitrogen — Unstable form of

Gas (N,) nitrogen

(d) Anamm_ox — Conversion of

nitrate to gaseous
nitrogen

bo

Where is the “Conservation Breeding ,
Centre established for artificial breeding
of Great Indian Bustard” located ?
(a) Siddarthnagar (b) Jhunjhunu
(c) Jaisalmer (d) Gwalior

3. Find the missing number in the following

ASM - 04

1 freff § & f-a o w0 AR 8 7

(o) Feorgg - 9 9 T -
TR S St

s - s mwm A d
i e 8

(©) T i (Np) — T A e

A — e H -
(CYRGILIES I 3
. i $fe wd (@ o) 3 HRT

& for e faen T Weron o S el
e ?

6.

figure,
1 3 5
2 4 3
8 3 2
65 ? 34
(a) 30 (b) 65
(c) 34 (d) 31

Which city of Uttar Pradesh is called
Carpet city ?
(a) Sonbhadra
(c) Varanasi

(b) Meerut
(d) Bhadohi

As per 2011 census of India, what is the
percentage of population thatlives in rural
area of Uttar Pradesh ?

(a) 77.7% (b) 75.4%

(¢) 73.3% (d) 70.7%

Which of the following rivers crosses the
Tropic of Capricorn twice ?

"(b) Parana
(¢) Murray-Darling(d) Lim'popo

(a) Zambezi

 (a) Ragdw (b) L
() SEai '(d) e
. et s f s e A |
1 3 5
4 3
8 '3 2
65 ? 34
(a) 30 (b) 65
(c) 84 @) 381
. SR P Tt ) el )
ST ? .
(a) TR (b) TS
(c) T (d) TR
- R 61 SO 2011 3 S 3ot 2
ST ST T & 3 R
HA R 7 |
(a) 77.7 wioem (b) 75.4 Wfaw
() 73.3 wftww (d) 70.7 wowrd
- Frerfea w8 3 2 e Y @ @ W
(1) et 2 7
() SRS (b) W
© Wl (d) et

4
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7.

10.

11.

Match List - I with List — I and select the
correct answer using the codes given below
the lists.
List -1 List - II
(Desert) (Location)
A. Simpson desert - 1. Australia
B. Karakum desert 2. Turkmenistan
C. Sechura "3. Peru
D. Negev 4. Israel
Codes :
A B C.D
@l 2 3 4
b2 138 4
©@3 2 1 4
b4 3 2 1
In which of the following stupas the
characteristic of ‘Aryak-Pillar’ is found ?
(a) Sanchi (b) Bodhgaya
(c) Amravati (d) Bharhut
UNESCO World Conference on Education
for Sustainable Development was held
in May, 2021 in which of the following
countries ?
(a) Finland (b) France
(¢c) Germany (d) Italy
‘South Asian Regional Centre’ of International
Rice Research Institute is situated in
following district of Uttar Pradesh
(a) Varanasi (b) Meerut
(c) Jhansi (d) Kanpur
With reference to ‘One District One Product
Scheme’ of the Ministry of Food Processing
Industries, match List —I with List—1I and
select the correct answer using the codes
given below the lists.
List -1 List-II
(Product) (District)
A. Garlic 1. Lalitpur
B. Onion 2. Mainpuri
C. Chilli 3. Ghazipur
D. Turmeric 4. Deoria
Codes: .
A B CD
@3 2 1 4
b2 3 4 1
3 4 1 2
@1 3 2 4

-8-

7.

10.

11,

ASM-04"
el — I g — 11 @ gafem i aen gt &
F R M 2 @ W s g |

et - 1 Tt - 11
(WEEE) (srafeufa)
A R 1 R
B, FRGH WA 2, JHAMEH
C. firgu 3. W
D. ¥4 4. FEA
He !
AB CD
@1 2 38 4
2 1 3 4
©3 2 14
@4 3 2 1

fraferen 3 2 fra v § o - B
fordramd et et 2 7 :

(a) W< (b) T

(c) STl (d) *wgd

T ferehrer ok foru fivem w i) o v
Feiier W 2021 # frefeRea § 4 fre 3w o
stranfor foran a7

(a) frrete (b) %/E

(c) Sft (d) el

S e ST TRAH 1 2fa7 T
i ¥ I wew % Fre et # oraf@ra 2
(a) AT (b) W3

(c) Frel (d) R

T YO JE FAT T e T 3R
AT FEed e — [ e - 18 ghfera hifve

o R e T T e A W s g |
el -1 gt - I
(3ear2) (frem)

A &g 1. SiaE

B. W™ 2. gl

C. fid 3. TG

D. &4 4, Safan

R
AB C D

@3 2 1 4

2 3 4 1

08 4 1 2

@1 38 2 4
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12. Change in the base sequence within the

gene is called
(a) Cloning

(b) Mlitation
(c) Breeding

(d) Fusion:

13. Which one of the following is NOT correctly

14.

15.

16.

matched ?

Vitamin Disease
(@) Vitamin D - Rickets
(b) Vitamin K - Sterility
(¢) Thiamine — " Beriberi
(d) Niacin - Pellagra

Who among the following became the first

woman Flight Test Engineer’ in the Indian
Air Force in May, 2021 ?

(a) Avani Chaturved;

(b) Mohana Singh Jitarwal
(c) Bhawana Kanth

(d) Aashritha V. Olety

Which of the following statements is/are
correct ?

1. Specialized farming is not a type of
farming. -

2. Diversified farming is not a system of
farming. :

Select the correct answer using the codes
given below.

Codes:

(a) 1only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Study of relationships between composition,
organisation and developmentof communities
and their environment is called

(a) Autecology

(b) Global ecology -

(c) Applied ecology

(d) Synecology

If the wéges of 9 labourers for 5 days are

6,300, then the wages of 15 labourers for

4 days are
(a) ¥ 8,300 (b) ¥ 8,400
(c) ¥ 8,600 (d) 8,600

12,

13.

14.

15.

16.

17,

ASM-04
Gﬁq%‘ﬁmmwma)gaui”%
(a) SR (b) Sef
(0) ToFH (d) w
e & - e g T 8 ¢

Freftm m
(a) firerfi € - m
(b) forerfid % - "9
(c) &t - afad
(d) P - Yo
freforf § & S 7§ 2021 ¥ WA a1 T
1 yee afgen ‘Sgm wew e’ s+ ?
.(a)ma.'gaﬁ
(b) w1 T foraeare
(o) WEATHS
(d) 3mfran <t AR

FEd g ah-m/d smaa /i ?

1. firee @i, @t &1 weR TE R |

2. Tafey wreft, @t Y someh 7 2 |

R e TR 5z 1 e R g we
HRR | - : &

EA
(a) ¥ 1

by w2
(c) 1w& 2 3t |
OENSES D)

ﬁﬂm‘-%ﬁmaqm%
(a) JMTganiah

R KR i T S ——

A 9 o 3 5 &t o1 qaw % 6,300 3, 7 16
TR 4 fort o e 2

(a) ¥ 8,300 (b) ¥ 8,400
(c) ¥8,500 '~ (d) 8,600
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18. In Uttar Pradesh, Rani Lakshmi Bai

19.

20.

21.

22,

Central Agricultural University Jhansi
was established by an Act of Parliament
in the year
(a) 2010
(c) 2018

(b) 2014
(d) 2020

Which one of the following is NOT correctly
matched ? _ '

(Museum) . (Place)
(a) Craft Museum — Lucknow
(b) Glass Museum — Varanasi
(c) State Archaeological — Kannauj

Museum
(d) Philatelic Museum - Saharanpur

Match List — I with List — II and select the
correct answer using the'codes given below
the lists.

List-1 List - 11
(Island) (Location)
A. Luzon 1. Pacific Ocean

2. Indian Ocean
8. Atlantic Ocean
4. Arctic Ocean

B. Medagascar -
C. Greenland
D. Baffin
Codes :

A B C
@1 2 3
2 1 3
©3 .2 1
d4 3 2

PN N

The sweet taste is detected by the following
part of the tongue

(a) Base

(b) Tip

(c) Middle

(d) Edges

Brass gets faded in air due to the presence
of following gas in the atmosphere

(a) Oxygen

(b) Hydrogen sulphide
(¢) Carbon dioxide

(d) Nitrogen

19.

20.

21

22.

ASM - 04
18. I wew ¥ T et A i Fit Rrvafaemem
Fitdt A weT wee & st go fe ad
gl '
(a) 2010 (b) 2014
(c) 2018 d) 2020
Frerferfa # & -31 o wet e T @ 7
(FgTeTa) ()
(a) TR THETCI - WEH
(b) TeITE HETeE ~ R
() TR e FETE™d  — it
(d) =1 fewhe wmgre™ — HEAR
Tt - T - [ A ghfe fifse R ghri s A=
33 T <z = I ) U W I g |
Tt - 1 Tt - 11
(3r) (arafeata)
A A 1. RIS HEMIR
B. TR 2. Tare weTETR
C. g 3. WHIH HEMTR
D. aft 4, s HEEIT
He !
AB CD
(@1 2 3 4
®2 1 3 4
©3 2 1 4
@4 3 2 1
forgt (sfivr) o Feforiae wm g0 e e & v
RUIRIRSIGI '
(a) HATHR
(b) 31
(c) 7&A
() femm
YAV | e T it Sufedf o R arg | e
BRI IS IR
(a) IfTedtsH
(b) BTG HHITE
(c) T TTERATFATES
(d) g
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23. Who among the following said “the 23. ﬁqﬁmﬁwﬁm%aﬁ??{
peasants have to liberate themselves not ferewft s . A o R F R 9 ‘
only from foreign yoke but also from the Sftart) & qetartedt : f
yoke of landlords and capitalists” ? (a) TGO DIUITEED
(a) Indulal Yagnik : m\, Tieft
(b) Mahatma Gandhi (b) %-m?;ﬁl'b'
(c) Bhagat Singh © e
(d) Sardar Patel (d) T

. Which among the following is the main  Frerfeiad & @ i g T o 9 forg

title of the United Nations World Water

Fté, 2021 1 §E&a T & 7

0 Promoeapert 20211 ) Bt
(b) Conserving water (b) s ﬁ'i ' Vma
(c) Managing water - . © : =
(d) Valuing water ©(d) AT A
. With reference to Sur Sarovar Ramsar . T THER T F:?«"f % frefafam @
Site, which of the following statements is/ - /A TR /E 7

are correct ?
1. It is situated in Lakhimpur Kheri
district of Uttar Pradesh.
2. It is a man-made reservoir.

1. 98 I TV & TEHR Gl e o
feme
2. I8 T AWa-Ffifa SemE § |

Select the correct answer from the codes

given below. ‘-ﬂ%ﬁq R 8 Tl W ﬂﬁq '
Codes: _ e

(a) 1 only (b) 2 only (a) %A 1 . (b) aat 2

(¢) Both 1and 2  (d) Neither 1 nor 2 (c) 132 5t OEGPERE

26. Onecycleissoldat 1,120 at alossof 20%. | 26. % GRfFAH T 1,120 W= ¥ 20% g g
At what price, the cycle should be sold to B arefhe =1 Ry TR A=A 40%

get a profit of 40% ? T BT =R ?
(2) % 1,560 (b) % 1,660 () T 1.560 ©) % 1.660
(c) X 1,860 (d) 1,960 (c) ¥ 1,860 () T 1.960
27. Which one of the following is NOT correctly | 27. fferiag i _ 59
matched ? A A BT T v g TR
(Lake) ‘ (Place) ' (¥Im)
(a) Sauj lake — Mainpuri (a) U ey - _ igh
(b) Shekha lake - Aligarh (b) Y& et - g
(c) Bakhira lake - Sant Kabir Nagar (c) TR 3 R .
(d) Sarsayilake - Agra (d) T ey i
28. Which one of the following pairs is NOT | 9g fefihe :
correctly matched ? 21 gmt 13 FH-a1 RREC IS
(Glacier) (Location) ;
(a) Siachen Glacier ~ — Nubra valley (R (srafeata)
(b) Baifo Glacier ~ Brabloh valley (a) R fomsy 1 T
(c) Bara Shigri Glacier - Chlandra (b) 4W fr _ FEeR T
valley ©) T
(d) Sonapani Glacier - Gori Ganga ) ﬁ?ﬂ?;m '»3“%5! - E m’&
& e - wm
B -6- .

4
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99. Which of the following represents most
commonly found cancers in the world ?
(a) Carcinoma
(b) Sarcoma
(c) Lymphoma
(d) Germ cell tumor

30. If the radius of a sphere is increased by
2 cm, its surface area is increased by
352 cm?. What is the original radius

of sphere ?

-3

(a) 6 cm
(c) 4 cm

(b) 5cm
(d) 3em

31. Fill in the blank using one of the correct

option given below.

BCDF : GHIK : : LMNP :

(a) QRSV (b) QRST
(c) QRTS (d) QRSU

Uttar Pradesh Government announced
an unicode for identifying landholdings
in February, 2021. How many digits are
used in the unicode ?

(a) 14 “(b) 16

(c) 18 d) 21

32.

Who among the following was NOT aruler
of the Mauryan dynasty ?

(a) Bindusara (b) Agnimitra

(c) Kunala (d) Ashoka

One District One Product (ODOP)
Programme was started by Government
of Uttar Pradesh on -
(a) 02 October, 2017

(b) 24 January, 2018

(c) 15 August, 2019

(d) 26 January, 2020.

Nilgiri Biosphere Reserve do N OT stretch
over which of the following States in
India ?

(a) Tamil Nadu
(c) Karnataka

33.

34.

3b.

(b) Andhra Pradesh
(d) Kerala

ASM - 04

29, Ffafa 4 @ #¥F-w Fwm R fwa # wmmm:
gaifes o SR 7
(a) T
(b) GTeRT
() formmim
(d) 51 3R =pR

30. IR et i < firen 2 .7, e € S B,
T g e A 352 A2 R gfg A el R |
T ) et S w7

=2
(a) 6 9.1, (b) 53.1.
) 4878, d) 33.4.
31/ ¥ fRu e Rrered § @ v Tl forehew w1 w@m
T gU T wum & g A |
BCDF : GHIK : : LMNP :
(a) QRSV (b) QRST
(©) QRTS - \/gd)/QRSU

FUC TR TR A G 2021 F offtr St
(Segifee) i vgam & fore u gfenre
son &t oft | 58 IS # e T 7
(a) 14 (b) 16

(c) 18 (d) 21

33, frmfiied 3 @ 9 w0l 9 1 TEE
T ?
(a) forgam (b) et
. (c) T (d) i
34, IV YRR 5 T el T Iere
(3021304, ) A e i e of
(a) 02 7T, 2017
(b) 24 adt, 2018
(c) 15 3T, 2019
(d) 26 Sa, 2020 _
A & FreferRaa d @ forg Trewr o Hi@fiit
AR e (aHves SR) o o T & 7

(a) TfERTg (b) 3TFY WM
(c) FteH (d) ¥

32,

36.

-
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36. Match List — I with List — II and select

38.

39.

40.

the correct answer from the codes given
below lists.

List -1 List - II
(Wetland) (State)
A. Tambao 1. Manipur
B. Koradi 2. Odisha
C. Ansupa 3. Sikkim
D. Yaralpat 4. Maharashtra
Codes: . '
A B C D
(@1 2 3 4.
b2 4 1 3
@3 4 2 1
d4 3 2 1

. Whichofthe following is NOT an instrument.

of the monetary policy of the Reserve Bank
of India ?

(a) Bank Rate

(b) Statutory Liquidity Ratio

(c) Goods and Service Tax

(d) Cash Reserve Ratio

Who among the following had excavated
the Takshashila University ?

(a) Dr. Spooner '

(b) John Marshall

(c) Dr. Stein

(d) R. D. Banerjee

Who was the Political Guru of Subash
Chandra Bose ?
(a) G. K. Gokhale
(c) B.C. Pal

(b) C.R. Das

(d) B. G. Tilak

If the sum of x and y is five times their
difference, then the value of

——31::’—-2— will be
2(x* -y)

(@1 (b)

() 8 (d)

wWlor o] w

ASM -4

36. g - 1 g - 11 3 G A o ey

37.

38.

39.

(b) 2

¥ 1 3 T e @ wE SW IR |
T -1 T - 11
(a1 9f®) (=)

A, TR 1, AR

B. FE 2. Ffewm

C. 3g 3. ffeen
D. IRede 4, TR

kT
A
(a) 1

(¢ 3
(d) 4

DN~ WA

W W A b0

PR 4 2 v ford 3 6 A
aﬁﬁm@mmwﬁ g7

(a)ﬁsﬁa'(‘

(b) JUTFeR T U

() TTet 3T Ba H

(d) Tohe TRfEr srguTa

qerfen fvafaeme w5 e § Q vl
oG AT 7

(a) . T

OEEE:

(c) T. &R

(d) >R, &, s=1f

T 5 9 3 AR e 3 7

(a) . %, ey
(c) 1. &t o

(b). &, 1R, 7@
() . s, foreen

40. TR x T y 1 I T0H S B Wl T R,

oxy
>x* -y%)

(a) 1

1 W B

(b)

() 3 (d)

w|ot ol

oty = 5(0Y)

PSRN

' g -0
ﬂj,{/é’/ g

2

.s){, ,—_‘f\/ ¢ -
’

Ty
/

5 [Py -
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41, Ifthe equation hxy + gx+fy—c=0h#0
represents a pair of straight lines, then

(@) ge+f2=0  (b) gf+ch=0
(c) fe+gh=0 (d) fh+cg=0
42. If sin“x—cos'lx:_g., thenx s
1 1
(@) 3 ® -2
3 NG
(C) "'_2" (d) ?

43. How many normals can be drawn to a given
parabola from a givén point ?

(a) 1 (b) 2
(c) 3 (d) 4
44. The value of Y, 57 -"Cyis
r=0
AB) 5" (b) 67
(c) T8 (d) 8

45. Let a relation r be defined over the set of
non-zero real numbers R* by arb ifa = %,

then over R* this relation r is

(a) reflexive, but not symmetric and
transitive

(b) symmetric, but not reflexive and
transitive

(c) transitive, but not reflexive and

symmetric.
(d) reflexive and transitive, but not
symmetric

yl‘he alternating group Ag on 3 symbols

1,2 3is
o) {, (1 3)}

() {I, (1 2)}
(0) {I, 2 3)} (P {@azs),as 2)}

47, Ifu is a homogeneous function of x and y
of degree n, the value of

2 2 2
X26—3+2 y_c’7’__+y2 0u g
o  oxdy oyt
(a) nu (b) (n—1u
(©) n(n - u (d) nn-2u

B , -9-

41.

42.

43.

45.

46.

47.

ASM - 04

Ife gHfteton hxy + gx + fy —¢ =0, h#O@

e Y- e, A
@ge+f2=0  (b) gf+ch=0
(c)fc+gh=0 (d) fh+cg=0

Ffe sin™? X ~ 08" x-— ?ﬁx%

(a) 2 (b) —m
3 I_
©) =y (d) 5
w 3 mfrg @ o R W wEe W R
W@ﬁmm%?
(@)1 “(b) 2
(c) 3 d 4
i5”-.ncrwm%
r=0
(a) 5™ (b) 6"
(c) ™ d) 8°
wmwamﬁmmaﬁ%awfi*q{@

TreY 1 39 YT YT B foh arbaﬁa— g
R*WIga=Y r

(a) g B, Torrg e e e e 2
b) Tmfta 8, fihg wged i v T R
c) éaﬂua_ﬁ%, fohg T 37 Wiy el 8
(d) g s T 8, P i T 2
3 Wil 1, 2, 3 WU STEd ] AE A, §

(@) {I, 1 2)} (b) {L, (1 3)}
© {I, 2 3)} (d) {L(123),(132)
Ife u T nmxaﬂtyﬁmm%,ﬁ‘r

2 o%u d*u 2 %u

X ") +-2xy6xay +y 6y2 FAA R
(@) nu ®) (a-Du
(¢) n(n - )u (d) n(n-2)u
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48. The value of the integral I log cosxdx is
0

() —-g-log 2
(c) -nlog2

(b) %10g2
(d) mlog2

49. Let M(R) be the vector space of 2 X 2

matrices over R and

le{{x .y'}:x,yeR}and

0 x

W2={[X y]:x,y,zeR}betwo
z 0

subspaces of M(R), then dim (W, "\ W,) is
()0 (b) 1
(¢) 2 d) 3

%hevalueofi-(jxﬁ)+j-(ﬁxi)+f{-(ixj)is
o - (b) 1

(©) 2 (d) 3

51/’ﬁow many generators does a cyclic group
\_~ oforder 8 have ? 5
(b) 3

(a) 2 h (-
(i) 4" @ 6 ’LEL( )

52/ The value of the determinant
\/./” b+c a a |

b c+a b
a+b

is
c c
(a) 2abe (b) abe
(o) 4abe . (d) 8abc
/58".’ If"P, =720-"C,, then the value of r is
o ()6 (b) 5 -
(c) 4 @d 7
54,/ £ : RoR is defined by f(x) = 8x3

7

N

and
g : R-R is defined by g(x) = x13, thep the

value of (gof) (x) is :
(a) 8x ) 2x

(c) -2x (d) 4x

K =D gy

48.

49,

50.

51.

62.

3.

94.

-10-

~

c+a |
c ot b ASM_OL%
p+20) i) (A1)
% b ¢+ b
T I logcoskdx FAME. =
; .
T 1og 2 Zlog2
() =508 ®) 3
(c) ~nlog2 (d) mlog2

TR M(R), R W 2 X 2 378} ) G afee §ufe

-tk

el e}

w2={[" (y)]:x,y,zeR},M(R)ﬁa
Z

Sgwfat &, 9 dim (W, A W,) &
(@) 0 b) 1
©) 2 ) 3
i-Gxk)+j-kxi)+k-(ixj) wam
(@) 0 () 1
() 2 @ 3
HIe 8 % R TR & frd S B B 7
(a) 2 (®) 3
(c) 4 d) 6
b+c a a
TR=F| b c+a b wm%
c ¢ a+b
(a) 2abe (b) abe
(c) 4abe () 8abe
IR EP, =720 20 A r w2
© 4 @ 7

£ : RR 38 v oot 3 s £ = 86
B R—R 38w w2 i gx) = <2

?(h(g"f) ) FaE Y
a) 8x

2
© ~2x 8; e
\\OC)‘ B ety {Ef{, 53:) C
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57.

58.

59.

s

B

1
93

- em e e m

classes { 1,2,3,4,5,6 (mod 7)} , &

generating element ig

(a) 2 (b) 3

(c) 4 9 6

Applying Lagrange's mean value theorem

to the function f(x) = (x — 1) x - 2) in the
interval [0, 1], the value of ‘¢ is obtained as

(b) b

I:i— |5

N

1
(© 7 “(d)

\

The value of the integral

j u—q-z—v—vﬁ dx is
dx?  dx?
dv du dv.  du

(a)E;—a;-FC (b) u£+v-&+c

dv du dv du
(c) UE—VEHJ (d) &+E+c

The number of solutions of cos26 = sinf in
the interval (0, 2m) is -

(a) 2 (b) 3

(c) 4 @ 1

If the nth term of the progression
5, V5, I, ........... is _._1_., then the value
3125 :

(b) 11
d 13

of nis

(a) 10
(c) 12

Let R* be the multiplicative group of
positive real numbers and R be the
additive group of real numbers, then the
mapping f: R* = R given by

fx) =logx Vx e R*is - .
(8) one-one and onto, but not homomorphism
(b) one-one and homomorphism, but not onto
(¢) onto and homomorphism, but not one-one

\ yne-one, onto and homomorphism
7 ,I/( -11-

/
v/

et "
/

A
‘l

55.

56.

57.

58.

59.

60.

ASM - 04

TafiTse Tt & TURTCH TE
{T,E,ﬁ,z,g,é(modﬂ}#ﬁqqfﬁm
Fag

(a) 2° (b)
(c) 4 @)

ol ool

I [0, i]ﬁqsmf(x)=(x-1) (x - 2) & fog
I F WET T TG T YA FA T ¢ H1AH
T &

1 1
@ 3 ®) 5

1 1
() 1 (d) i

2 2
T | ud—g—vil—;—‘ dx F AR R
dodx dx )

dv du ° dv  du
(a) d—x—d—x+c ,.(b) u(—i;+va+c

dv  du dv du
(c) ud—x—vam (d_) &+—d—£+c

AT (0, 2m) # c0s20 = sind F Tl

rciid

(a) 2 (b) 3

(c) 4 @ 1
ARIAS5, B, 1, .. Fndfw 1@
AnHAFE =0
(a) 10 () 11

(c) 12 @ 13

A R* eI ATRIF el 1 qUHTeRe
Wi © 3 R ATl St e e R,

T f(x) = logx V x € R* g fean e wfafsor
f:R*>R

() T ¥R aTreaTes &, fheg o 78
(b) TR 3R TR &, fofe] aTTeR e
(c) TreaTeh i wwmERaT &, fg T Tt
(d) T, ATeBTER N TR &
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. The harmonic mean of the roots of the

equation ax?—bx+c=0is
26 Mc
@ -3 B
c c
" @ -3
62, Ifthe matrix A is invertible, then the value
of lA"l, is
1
(a) |A] ®
|A]
(©1 (d) none of the above
637 If R be the set of real numbers, then a
o binary operation on a non-empty set G is
L a mapping
‘:\ (a) from G to G (b) from GXG to G
= ) from RXG to G () from RxG to R
64/ The rank and nullity of the linear
transformation T : R2 — R3 defined by
T(a, b) = (a — b, b — a, —a) are respectively
(@11 (b) 2,0
() 0,2 d 2,1
65. If the funci:ion f(x) =asinx + %sin 3x has
maximum value at x = %, the value of a is
1
(a) 3 ®) 3.
1
(c) 2 (d) 2
66. The equation of the tangent to the curve
x = a(0 + gind), y = a(1 + cosB) at the point
e = lt. i.S
2
(a) 2(x +y) = a(m +4)
() 2(x-y) = a(n + 4)
©x+y=0 :
(dx+y=an
B (o) (01) e,
& T(Hhoy = (-0

62.

63.

64.

65.

66.

e PR
0 .
e BT
il ! iy
N ‘ oo ASM - 04
fl" ,(.t,},‘ “VE.‘"\ ‘
e ax2—bx+c=0 3 FEil 1 TUH A4
2c 2c
= b) —
(a 3 (b) 5
c c
i d) ——
(©) v (d) b

aﬁmAW%,aﬁ‘A“llaﬁrmm

@ A ® Ill?\

(1 (d) IiFa H W g
%ﬁRaﬁ%%éwaﬁmuaﬁaé,aﬁwm
WGW@&WW@W@W%
() GRGW - (b) GXG ¥ G™

@ RxGAGW  (d) RXGERW

T(a, by =(a—b,b—a, —a) g it e
TR T ; R2 —» R3 < i o7 vz seet: 8

(a1, 1
(©) 0,2

(b) 2,0
d 2,1

e Xf%rﬂw f(x)=asinx+%sin3x

1 A AR R, A a FHAE R

(@) 3 (b)

(c) 2

o= Wl

(d)
% x = a(® + sinb), y = a(l + cosb) % fd
ezgwm%@wwﬁw%

(a) 2(x +y) = a(n + 4)-
(0) 2(x —y) = a(n + 4)
@©x+y=0
d)x+y=an

LAt =)

v’

f il AL n

@ Scanned with OKEN Scanner



g7, 1f the radial and transverse velocities of

68.

69.

70.

1.

a particle are always proportional t
other, the path is o0 each

(a) a cycloid

(b) a catenary

(c) a cubic curve

(d) an equiangular spiral

The equation of a rectangular hyperbola
referred to its asymptotes as co-ordinate
axes is of the form

Y
(a)—-——-‘—:l (b) x2-y2=42
a2 b ) o8
2 (d xz_y2:2xy

The radius of the circle
x2+y?+u2-8x+ 4y + 8z—45=0,
x-2y+2z=31s
(a) 4

© 445

The relation of being isomorphic on the set

of all groups is

(a) symmetric and transitive, but not
reflexive ' -

(b) reflexive and transitive, but not
symmetric

(b).5
d 25

}9) reflexive and symmetric, but not

transitive -
(d) reflexive, symmetric and transitive

The condition that the roots of the equation
x3-px?+qx~-r=0 be in a geometrical
progression is
(a) p+q-r=0
(c) pPr—q®=0

® ¢*r-p®=0
(d) p-q+r=0-

The angle between the vectors ax b and
bxa is
(a) 0°

(c) 90°

(b) 45°
d 180°

13 The function f : R—R defined by

y

f(x) = cosx V xeR is

(a) one-one, but not onto
(b) onto, but not one-one
(¢) both one-one and onto

\_{9-neither one-one nor onto

N .
=
<

67.

68.

69.

70.

Tl

72.

73.

ASM - 04

TR e b 5 3 sl g A T G A
W GO €, 0w B

(2) T Tkl

(b) T Fel

(OACIECIEE .

(d) T HHTERIvIE Wt

TR sy % st @ fewmes
aammmmm@ﬁm%

2 .2 '
(a) %——%:1 (b) 4x2—y2=a2

(¢) xy=c? d) x2-y2=2xy

?ﬁx2+y2+z2—.8x+4y+82—45=0,
x -2y +2z=3 i g

(a) 4 (b) 5
(©) 445 @ 25
it gl 3 weT WA B g |

(a) TR @& wETe, Toheg Terged el
(b) TG T W, g T
(c) Tagea Ta i, Freg W Tl
(d) TG, FHIHT T HH

FfE x3—px2+qx—r=0 % eI A IR S
# 31 %1 wfay @

(a) ptq-r=0 (b) g®r-p3=0
(© p’r-¢®=0 (@) p-q+r=0
TRyt ax bt bxa Hfmmam
(a) 0° o) 45
(c) 90° (d) 180°

f(x) = cosx V¥ xeR g qftaiea wem
f:R-R2

(a) 5, g aTr=oes T

(b) s, e T TE

(c) T 3R e gt

(d) 7 e R A & IoRE
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A4 .
Aty B ;
r‘.?.}(
7

is

|.,!é.._t
% value of tan"!

S S

(c) 2x

1-cosx ' ‘;
1+ cosx T
(b) x
2x
@ 3

75. The centre of gravity of a uniform circular
wire of radius a subtending an angle 20 at its
centre O lies at a point on the symmetrical
radius, whose distance from O is

(a)

asina .
(b) asina

2a
(c) acosa —
no

(d)

2,.2 2,3
x°(x“ -
( 3,3) , the value of

76. >
(x*+y“)

If u=
Ju ou .
X—+y— 18
ox

(a) 6

(@6&

Let a function f(x) be defined over [0, 2] a's
follows :

X, if x is rational
fx)=9 .0
x*, if x is irrational

() 2u
@ 2

77.

then the upper Riemann integral of f(x)
over [0, 2] is

17
a) .
()6

(d) 2

’

13
-(0) -é'
78. The equation of the right circular cone
whose vertex is the origin, the axig i8 the
z-axis and semi-vertical angle ig o, is
—_—
(a) x% + y? = 72 gin2g
(b) x2 + y2 = 22 cos2g,
x2 + y2 = 72 tan2q,
(d) x2 + y2 = 22 cot2q

<14-

75,

76.

1.

78,

e 1 )‘7 C/l )
R ‘\ B | ASM~04

I
1 " [1-cosx
tant 1 FAAE
OF b

2 2x
© 22 (d) 3
3T 37 O T 20 1 SR H T By
S g A &, e 0 330 2
() Asina (b) asina
(c) a cos o, () f_:z “

x2(X2 "Y2)3 0 0

IRk u= (x2+y2)3 ’ xau-i-y-a—;}m
TR
(a) 6 (b) 2u
© 6u @ 2

| [0, 2]‘?TW f(x)ﬁﬂa?{qﬁﬂ'lﬁﬁ%:

f(x)={x,'ﬂﬁx"7ﬁ'ﬁ'q%
xthﬁxm%

T [0, 2] W fi(x) 1 3uft Rt wmere 2

11

17
(a) r ® =

13
(c) E— d) 2

T T 1, 1 e, v e g,
23K S ord -7 o 7, %

2 ;
(8) X2+ y2 = 52 g2

2

2
(C) X& + y2 = z2 tanza

2
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79, Two spheres of radii 1y and ry intersect
each other orthogonally. The radius of the
common circle is

(@) yr2 +12 (b) —L1%2
V0 +1f)
Iy T
c) \J(rf‘} +2r2) (d) none of the above
2

Mn the group {a, a? a8 af, a5, a6 = ¢}, the

order of a0 is ,

(b 6
(c) 2 (d) 3

81. What is the probability that a leap year,
selected at random, will have 53 Tuesdays ?

3 5
(a) 7 (b) 5
2 4
(c) 7 @ =
82. ABCD is a parallelogram with AC and BD
as its diagonals, then AC-BD is equal to
(a) 4AB (b) 3AB
(c) 2AB @ 0

83,/If A be a square matrix of order n, then the
adjoint o_f_the__a_d/jc@on_f/A_ is
(where |A| is the determinant of A.)

@a  GHArTA

@ |AP A @ [A]A

M’hich relation is NOT true for a common
catenary ?

(a) y=ccosh(§-) L

(b) x = c log (sec y + tan V)

©y=csecy =~
\)d')'/s=csian

85. The transverse component of acpelera
of a particle moving in 8 plgne is

Y

tion

(a) § (b) 210+ 10
© L @ #-r¢
p 1

.15-

79.

80.

81.

82.

83.

84.

8b.

ASM - 04
@l?ﬁéﬁxﬁﬁwﬁr;wﬁ,@-{a@m
vheafa F § | v ga A e g

2. 2 _nt+r

(a) n + Iy (b) ‘l(q2+r22)
L2 _ () wEmAdRE

Ve +1f)
T {a, a2, a3, a4, a5, a6 =¢} B bR
(a) b (b) 6
(c) 2 d 3 .
e g T el e f 53 sierET €
TREm e ?

3 5
(@) 7 (b) =

2 4
(© 7 (d) 7

ABCD & AR g &, s faeml AC 3fit
BD#, @ AC-BDaUsR 2

(a) 4AB (b) 3AB

(c) 2AB @ 0

AR AR nFHE 1 AR A, A A F Vg
1 Tgwage g
(vref, A 1w |AlR 1)

(a) |A]A ®) |A"*A
© [AP7TA @ JAPA
e el 3 forg i -w wray T iR 7

(a) y=ccosh[%) ‘
(b) x=clog (seb\y+tan V)

(c)y=csecy
(d) s=csiny
@Wﬁwﬁfﬂmwm%@ﬂ@_
qﬂgj@tf
(@) § (b) 2t6+1b
© s @ E-ré

o P

1
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/S

%ﬁ ASM - 04
. n-1 1 n-1 1
86. The value of lim —_— s 86. lim ) ——— ®OAAR
o /20 Vo -r?) e 55 J(n? - r?)
(@) = b I n | n
I b F
4 2 (a) T (b) i
©n @ Z (OF: (d) g
87. IfSdenotes the surfaoeofthecubeboundedby 87. IR wae x = 0,x=1y=0,y=1,
theplanesx=0,x= 1,y=0,y.?1,z:0’z=1, Z= 0, Zz= lﬂmmﬁmﬁ'ﬁs-éw
t_hen the valufz of normal surface integral of fF s, S W F = - yz)i- 2x%yj+ 2k
F=(x* - y2)i - 2x% + 2k over Sis & e Tag TR i HE 8
| (@) 1 (b) ;}. @1 (b) 1
. 3 3 3
1 | wel 1 1
= - o + —_ . —_
(© 5 (d) 6 Qu ! \ (© 5 _(d) 6
. ,\,\\Aﬂ
a8
88. ThelineL_z=y—-3=i5intersectsthe 88. @ x;2;y;3=z-;5
pl ne x + 3y — 5z + 4 =0 in the point x+3y—5z+4=03ﬁm€m%,ﬁﬁ
a) (—1) —1) 0) (b) (1; ‘ls 0) (a) (—1, —1, O)qt (b) (1, 1, O)q-(
© (1,0, 1) d (0, -1,-1) (© (1,0, 1) d (0,-1,-1) |
89, Thellength of the latus rectum of the conic | 89. g 3x2 + 4y — 6x + 8y — 5 = 0 & Ty
3x2+ 4y2 - 6x + 8y —5=01s Sfrar 6 o
3
(a) 3 (b) % (a) 3 (b) g
2 2
(©) N (d) none of the above (c) N (d) Iugaa o B s 7
90. The probability of getting more than 15in [ 90. HHuidi® warIHI i 153 3T e B <
. one throw with 3 dice is Tfrehan
5 2 5 21
(a) 108 @/216 (a) 108 (b) 16
1 1 1 i
= d) — Ry 1
(c) 2 (d) 27 (© 2 d T
9}]{/ The order and degree of the differential 91, e gefiey 9§ = 1+[EXX) AR
/ 3
0%
o4y dy |
equation 95}{7 ={1 + (EJ } are @(mm: g
respectively
(a) 2and 6 (b) 1and6 (a) 23R 6 (b) 136
\j;)’?and2 (d) 2and 5 " (c) 23K 2 d) 235
B Ry [ ! i P oA %\,‘ by \ & ;
-9 REIR N |\ (Ht) | ol
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99. IfAandB are symmetric matrices, which of
the following is a skew-symmetric matrix ?

(a) 5(A+B) (b) 3(A-B)
@ AB+BA @y AB_BA

93. A heavy uniform rod of length 2a rests
with one end against a smooth vertical
wall and with a point in its length resting
on a smooth peg. If the distance of the peg
from the wall is b, the angle 6 which the
rod makes with the wall is

1/3 ) ’
(8) sin™ ( g) (b) sin"( a

13
3]

© sin"(h) @ sin"( b )
a 2

a
94 /'If at any instant, the velocity of projectile be
u and its direction of motion make an angle
o to the horizon, then after what time will it
be moving at right angles to this direction ?

X

u u
: b
®) gsina ®) gcosa
g | g IRERY
9 9 t
95. The area of the ellipse X ¥ =1 lying
in the first quadrant is TN
(2) 2n (b) 3~
(). An (d) none of these

96. LetZ be the addiﬁvt? group of ir.ltegerg andE
be the additive subgroup ofeven integers, then

ASM - 04

92. TR A ol B anfi weqe B, A Frefeiian # @
Pr-a e -gafia g @ 7 o

(a) 5(A+B) (b) 3(A-B)

(c) AB + BA (d) AB-BA

0 TS o1 o T et 5 3@ e fertrree
3% o5 v T R T R et dam W
% iR gah s o O fag O ot G e
3 |7R QA A Fam A g b A, A 7S U de
S T PO 6§

. 13
wart(2)" o (2]
-\ a .

(c) sin™ ( -E—j (d) sin™ ( -2%)

I et oy wde AT u B it T T < faEm
faf B o 107 ST B, @ e T w36
ﬁmmwwﬁfﬁ?

u

93.

173

94,

(@) —
gsino

oy - BT |
2 @ (b) 37
2 (o) an (d). 7 A g 7

96. T Z YoteR it ATreneh W ¥ E AW i
1 Ao AR 8, 79 Z 8 E % -

[

{5t inZi Frageedl 6 WEd
the numberof isinct oseB oLER % ® 3
9 b) 3 YR
((a; f 2&; G 1 01 @
¢ -~ .

97, The distance between the foci ofa hyperbola | 97 et e 7 e o A g 8 e
'- .o ig 4/3. Its equation Terz V3§ | T e @ e ¢
is 8 and its eccentricity 18 V< seq N
may be (::ﬁ; (a) x2 - 8y“=32.

(a) x% - 8y%= 32 A D,_Qﬂ-) (b) 6x2 - 3y2 =16

(b) 6x2 - 3y% =16 R L (c) 6x% -8y =382

(¢) 6x2 - 3y% = 32 b (@ 8x2- 352 =16
2_gy2=16 (f 4 nlr

(d) 3x*-8y*=1 ) BB Lo

J
1 '—‘
fra
\s

7%
T
4

(8

\ nl) ' )
- A SN

Al
‘;;\"
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98./ The roots of the equation |/

" logg (x2-16x+141) = 2 are

\ T\\ L(a) 4,5 (b) 5, 6
AT OL P @ 46
- AV

W\

199, JIf 5, B,E are three unit vectors such that

N . 1_. -
e Q - ax(bxce) =§b, then the angle which a

~

makes with ¢ is - g
Q' (a)30° Ab) 45°
S O\ @ 90°

- 100. Let V and W be two vector spaces over a
Ueld F and L(V, W) be the vector space of
. all linear transformations T : V — W. If
- dim V=m, dim W = n, then dimension of
LV, W) is
(@m+n °
(c) max (m, n)

AB) mn

d) none of the above

A line makes angles a, B, v, § with the four
) diagonals of a cube, then the value of
sino. + sin®p + sin2y+ sin5is

) g (b)

olw »|w

8

(c) 5

,,./ 102. [The shortest distance between
\__~ the lines * il y;2 B :3

x—2_y—3_z—4i
3 4 5
(a0

(d

and

8 .
1
JE.
b

(©) (d)

—

J6

|

103. An integrating faotor of the differentia]
dy

. T

tx

equation

@

ytanx + 2sinx. is

(b) . conx
() tanx

gedx
ginx

-is-

Y =

99.

100.

101.
?, % sin%0l + sin2B + sinZy + sin28 1 A 2

102.

108,

Véeetie + 9 Can

"I;(V,W)Hﬂﬁiﬁﬁt&m——clwﬁT:V—)Wﬁ

ASM - 04

y |

\\z:.fff'.
T logy (x2— 16x+141) = 2 FH T §

(b) 5,6
(d) 4,6

(a) 4,6
(c) 6, 10

IR 2, b, o d  TE aRw ¥
5x(5x5)=%5,?fa a o o FdMF AL

| (b) 456°

(a) 30°
(c) 60° (d) 90°
AV 3R W a9 F W @ afew wmfeeaf § sik

iy g 1 3R dim V= m, dim W =n, @

L(V, W) =t formn gt
(8 m+n (b) mn
(¢c) max (m, n) (d) 3Iugaa o | g e

T et o 3 e et @ o, B, y, S o sl

4 3
(@) 3 (b) 1

8 3
(C) 5 (d) g
Yo XL _y-2 _z-3 .

2 3 4 w
X-2 y-38 z-4
T3 gt Rt
(8) 0 ®) L
6

2
© = 9 2

9 (d) N
I Wity %=ytanx+2smxﬂﬂ@
TR Mo &
(8) secx (b) cosx
() sinx @) tanx

j Lp s F0E H
I l\’) ),() / e )
SRR
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TR A \ " )
I :‘(,"“.A\J'> )i »\ i =g W

: ffi 4
104 The coe lglent of x4 in the expansion of

(%——%—J is MU= ot

6; Nt 4002 3
(a) — 66 ’
(a) 8 (b) 3TO

66

—_ 66
C - ——
© 39 (d) ~T

105/ Aline lying in the y2-plane is inclined at an

angle 0 with' z-axis. Its direction cogines are
&0, sinx, cosa  (b) 0, cosar, sing,
() sina, coso, 0 (d) cosa, sing, 0

"106. Expandmg 8in (Z + 6) 1n powers of 6, the

- 0%
coefficient of ks obtained as |
I T
G Eo
1 ] R WO e
2 = ek
/@7 2 (d) 2 a,.: Tj}.....» o | ;

107. The unit normal to the surface /C—\--‘h 3

I

x2 + dy? - 322 =2 =0 at the point —— ]

wLow [y
POV VR UL R
L \/Eé ' 1 »~ 4

@{5§G+3+£) G jﬁxr—%—k)
P 111
’108 Let A=| 0 0 1|and
2 X Yl

V= {x, v, 7) € R3 ‘ |A| = 0}, then the

dimension of V is

(a) 0 (b) 1

-2 \9«_3

Jron 0t ASM - 04

%3

)
104, (gi}l 35 g o

66 66

(a) ] (b) 30
66 o 66
©) oy d ok
105. yz-ume # R H YaT 2-398 & WA 0 IO
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